Editing instructions:

Replace 10.6.2-10.6.7 and the preceding paragraph with the following. Note that 1.1.1 should be 10.6.2, etc.
The following examples use the above context.  Each example has a pair of equivalent FEEL expressions separated by a horizontal line. Both expressions denote the same element in the semantic domain. The second expression, the ‘answer’, is a literal value. 

1.1.1 Calculation 

	monthly income * 12

	120000


The context defines monthly income as applicant.monthly.income, which is also defined in the context as 10,000. Twelve times the monthly income is 120,000.
1.1.2 If, In

	if applicant.maritalStatus in ("M","S") then "valid" else "not valid"

	"valid"


The in test determines if the left hand side expression satisfies the list of values or ranges on the right hand side. If satisfied, the if expression returns the value of the then expression. Otherwise, the value of the else expression is returned.
1.1.3 Sum entries of a list

	sum(monthly outgoings)

	5500


Monthly outgoings is computed in the context as the list [applicant.monthly.repayments, applicant.monthly.expenses], or [2500, 3000]. The square brackets are not required to be written in the boxed context.
1.1.4 Invocation of user-defined PMT function
The PMT function defined in the context computes the monthly payments for a given interest rate, number of months, and loan amount. 
	PMT(requested product . rate, 
    requested product . term, 
    requested product . amount)

	3975.982590125562
A function is invoked textually using a parenthesized argument list after the function name. The arguments are defined in the context, and are 0.25, 36, and 100,000, respectively.


1.1.5 Sum weights of recent credit history
	sum(credit history[record date > date("2011-01-01")].weight)

	150


This is a complex "one-liner" that will be useful to expand into constituent sub-expressions:

· built-in: sum
· path expression ending in .weight
· filter: [record date > date("2011-01-01")]
· name resolved in context: credit history
An expression in square brackets following a list expression filters the list. Credit history is defined in the context as a relation, that is, a list of similar contexts. Only the last item in the relation satisfies the filter. The first item is too old. The path expression ending in .weight selects the value of the weight entry from the context or list of contexts satisfied by the filter. The weight of the last item in the credit history is 150. This is the only item that satisfies the filter, so the sum is 150 as well.
1.1.6 Determine if credit history contain a bankruptcy event
	some ch in credit history satisfies ch.event = "bankruptcy"

	false


The some expression determines if at least one element in a list or relation satisfies a test. There are no bankruptcy events in the credit history in the context.
